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Calculation of Groebner Basis with Parametric

Coefficients or Indeterminante Exponents

i E, BRI BHE (BEKRE - BERER)
E-mail: takahasi@kobe-u.ac.jp, nagasaka@main.h.kobe-u.ac.jp
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curvel = z(y — 2) + w®;
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curve2n] == ylz — z) +ww "z ;

eurve — ideal[n.) := {curvel, Bycurvel, dycurvel, Ocurvel, Oycurvel,
curve2(n}, Bycurveln], Sycurve2in], O curvein, aw(}"u/r'UBQ[‘IL]}

GB-curve-ideal[n.] := GroebnerBasis[curve-ideal[n], w, x, ¥, 2]

GB-curve-ideal(n]
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ZHERE, B K3 BEEAOERIENTHA) .

curve-ideallk, p, qj
{ qu*® + w** + 2% + 3 +wryz + pwb2b + 27, 2z + wyz, 3y + wzz, wry + 6pwtz® 4+ 728,
42qw* + (42 + k)wrTF + zyz + 6pwd20 }

DBE, EEFERFLUTOIILDLIET, FL T F—EEFESERATKL .

curvelk,, p-, q := 2% + 4% + 27 + zyzw + pzbub + quiltF
curve-idealk. , p- , q.] :=
{ curvelk, p, q, 8; curvelk, p, ql, 8y, curvelk, p, g}, 3; curvelk, p, q], 8, curvelk, p, q} }

curve-ideal[k, p, q
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